PHYS 201
HWK-8
Name:________________________________
Newton’s law of gravitation is given below.  
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1. Express the SI unit of the gravitational constant, G.

2. The drawing (not to scale) shows one alignment of the sun, earth, and moon. The gravitational force FSM that the sun exerts on the moon is perpendicular to the force FEM that the earth exerts on the moon. The masses are: mass of sun[image: image2.png]
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1.99[image: image4.png]
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1030 kg, mass of earth[image: image6.png]
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5.98[image: image8.png]
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1024 kg, mass of moon[image: image10.png]
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7.35[image: image12.png]
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1022 kg. The distances shown in the drawing are rSM[image: image14.png]
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1.50[image: image16.png]
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1011 m and rEM[image: image18.png]
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3.85[image: image20.png]
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108 m. Determine the magnitude and direction of the net gravitational force on the moon.
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